
𝐸𝑣𝑒𝑛: 𝑓(−𝑥) = 𝑓(𝑥) 𝑂𝑑𝑑: 𝑓(−𝑥) = −𝑓(𝑥)

𝑓(𝑥) = 𝑥ଶ

𝑓(−𝑥) =  (−𝑥)ଶ = 𝑥ଶ = 𝑓(𝑥)

𝑓(𝑥) = 𝑥ଷ

𝑓(−𝑥) = (−𝑥)ଷ = −𝑥ଷ

−𝑓(𝑥) = −(𝑥ଷ) = −𝑥ଷ

𝑂𝑛𝑒 − 𝑡𝑜 − 𝑂𝑛𝑒𝑁𝑜𝑡 𝑂𝑛𝑒 − 𝑡𝑜 − 𝑂𝑛𝑒

𝐹𝑢𝑛𝑐𝑡𝑖𝑜𝑛

Horizontal Line Test

Vertical Line Test 𝐹𝑢𝑛𝑐𝑡𝑖𝑜𝑛

𝑦 = 𝑖𝑛𝑡𝑥 = [𝑥]𝑦 =
|𝑥|

𝑥
⎯⎯⎯=

𝑥

|𝑥|
⎯⎯⎯

Non integers Round down 
to nearest left integer*.

     𝑥       𝑦

  −1.5     −2

   −1     −1

  −0.5     −1

      0      0

     0.5      0

       1      1

    1.5      1

       2      2

     2.5      2

x y

-2 -1

-1 -1

0 DNE

1 1

2 2

𝑓(𝑥) = 𝑥ଶ
𝑓(2) =

𝑓(𝑥 + 2) =

𝑓(𝑥 + ℎ) =

𝑔(𝑥) =
1

𝑥
⎯⎯ 𝑔(3) =

𝑔(𝑎) =

𝑔(𝑥 + ℎ) =

𝑝(𝑥) = √𝑥⎯⎯  𝑝(4) =

𝑝(𝑎 + ℎ) =

𝑝(𝑥 + ℎ) =

Find the following, given.
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